4 £ =B U &

Z OFIE 1100m LLE o (L & #5172,

E LHBEEE [5 5450 1 HEK )

1] & B 1) A £ & B 1) A £

X ] 1709m | FEAAAERICILAT (1AL AT) [ 1203 m Bl (IH BB TR R

K J i 1510 I\ SR T BT BF W 1200 AET (IBRMEREANT) 58

H i 1388 INGIEp S At & " 1188 H 2587 H /T 52

5 r il 1386 H 8P AR VLT & oy K 1164 H 27 BB LT T 52
PEARAER A L BT (1H K HLmT) T 5= S| 1143 H 28K H e T

= £ i} 1358 I\ GHER A5 4 BT 5F i @@l 1143 H BF 88 H /T 5T

bt J i 1319 J\BE AR BT =EL(AE) 1126 H 2748 H e T 58

5] J ] 1310 B (IHAEERRERFAT) | I 1123 Hi (HEAECEA4RT) B2
JVBEEG\EHAT (IHJ\HET) ERmss | # 2l 1118 HAAER = 5T 5

i # 1] 1269 H 2780 H /5 RT 58 X & W 1112 H 27 AR H g RT

=W (EAE) 1252 Bt (I \EEEBEIEFT) | T @ W 1100 BE™ (IAR(ARRIANT) 5%
HAARR = I HT 5

Fill (153 il 1240 J\BE R R AT BE

ES plis il 1218 ERSS AN R

fifi 2N ] 1207 J\SH AR RLHT

1) I8 EREEET,



